Operacions amb nombres decimals (II).


1. Efectua mentalment:

a) 245,8 : 10 =

b) 34,86 : 10000 = 

c) 6345 : 1000 = 

d) 0,814 : 100 =

2. Calcula: 

a) 5,6 ( 3,7 + 2,1 – 0,4 =

b) 85,2 – 8,7 ( 5,65 – 7,96 =

c) 106,78 – 4,7 ( 21,4 – 5,4 =

d) 8,75 – 2,54 ( 6,7 : 4,2 =

e) 458,43 + 21,56 – 23,8 ( 0,9 =

f) 12,7 + 2,56 ( 4,5 – 2,37 =

3. Efectua:

a) 
[image: image1.wmf](6,23,8)6,5

+´=


b) 
[image: image2.wmf]7,6(23,58,7)2,75

´--=


c) 
[image: image3.wmf]12,4:0,2(2,71,05)3

-+´=


d)
[image: image4.wmf](28,63,2):(0,214,3)

-+=


e) 
[image: image5.wmf](2,53,7)(45,612,5)

+´-=


4. Calcula:

a) 
[image: image6.wmf][

]

(2,30,5)(3,712,7):2,53

-´-+=


b) 
[image: image7.wmf](3,120,13):2,34(32,13,2)

-+´+´=


c)
[image: image8.wmf][

]

(3524:2)0,53,130,25(324)

´-+´+´-´+´=


5. Calcula:

a) 
[image: image9.wmf](1,252,6)1,21

-´=


b) 
[image: image10.wmf]6,27:34

-=


c) 
[image: image11.wmf][

]

1,22(3,17:2)0,5

--´=


6. Calcula: 

a) 
[image: image12.wmf]25,237,1(18,063,4):1,26

+´--=


b) 
[image: image13.wmf](

)

375036,5:286,08281,08

´--=
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